Witness

RUEL B. BONGULTO

Accountant-III

Department of Public Works and Highways (DPWH)

Contract ID

: 24FG0030

Contract Name

: Construction of By-Pass and Diversion Roads,

Jct. Nato-Sabang Coastal Road, Dolo Section,

Camarines Sur

Location of the Contract

: San Jose, Camarines Sur



Republic of the Philippines
DEPARTMENT OF PUBLIC WORKS AND HIGHWAYS
CAMADINES SUD ATH

CAMARINES SUR 4TH DISTRICT ENGINEERING OFFICE

Tigaon, Camarines Sur



CONTRACT AGREEMENT

KNOW ALL MEN BY THESE PRESENTS:

This **CONTRACT AGREEMENT**, made this, <u>Gh</u> day of <u>February</u>, 2024 by and between:

The GOVERNMENT OF THE REPUBLIC OF THE PHILIPPINES through the Department of Public Works and Highways (DPWH) represented herein by, <u>GEMMA B. TIMBANG</u>, duly authorized for this purpose, with main office address Office at Caraycayon, Tigaon, Camarines Sur, hereinafter referred to as the "PROCURING ENTITY";

-and-

ALRO CONSTRUCTION & DEVELOPMENT CORP., a corporation organized and existing under and by virtue of laws of the Republic of the Philippines, with main office at Purok 4, Barangay Rawis, Legazpi City represented herein by BASIL RAMON C. GUTIERREZ, duly authorized for this purpose, hereinafter referred to as the "CONTRACTOR";

WITNESSETH:

WHEREAS, the PROCURING ENTITY is desirous that the CONTRACTOR executes the Works under: Construction of By-Pass and Diversion Roads, Jct. Nato-Sabang Coastal Road, Dolo Section, Camarines Sur, San Jose, Camarines Sur, hereinafter called "the Works" to be completed within two hundred seventy-five (275) calendar days and the PROCURING ENTITY has accepted the Calculated Bid of the CONTRACTOR for the execution and completion of the Works at the calculated unit bid prices shown, or a total Contract price of NINETY THREE MILLION SIX HUNDRED FOUR THOUSAND SEVEN HUNDRED TWENTY-EIGHT PESOS AND 79/100 ONLY (Php 93,604,728.79).



Department of Public Works and Highways (DPWH)

Contract ID

: 24FG0030

Contract Name

: Construction of By-Pass and Diversion Roads,

Jct. Nato-Sabang Coastal Road, Dolo Section,

Camarines Sur

Location of the Contract

: San Jose, Camarines Sur

Item Number	Description	Quantity	Unit	Unit cost (P)	Total Amount (P)
	NSTRUCTION OF ROAD				
VOLUME: PART A	FACILITIES FOR THE ENGI	VEED			
A.1.1(7)	Provision of Combined Field Office and Laboratory Building for the Engineer (Rental Basis)	9.17	mo.	21,806.40	199,964.69
Ã.1.2(4)	Provision of 4x2 Pick Up Type Service Vehicle for the Engineer on Bare Rental Basis	0.50	vehicle- mo	36,750.00	18,375.00
PART B	OTHER GENERAL REQUIRE				
B.5	Project Billboard/ Signboard	4.00	ea.	8,317.72	33,270.88
B.7(1)	Occupational Safety & Health Program	9.17	mo.	15,557.82	142,665.21
B.8(1)	Traffic Management	9.17	mo.	3,567.10	32,710.31
B.9	Mobilization/ Demobilization	1.00	l.s.	207,000.00	207,000.00
PART C	EARTHWORK			·	
103(1)a	Structure Excavation (Common Soil)	53.50	cu.m.	344.11	18,409.89
104(1)a	Embankment from Roadway/Structure Excavation (Common Soil)	9,178.00	cu.m.	292.31	2,682,821.18
104(2)a	Embankment from borrow (Common Soil)	19,199.10	cu.m.	976.09	18,740,049.52
105(1)a	Subgrade Preparation (Common Material)	5,448.30	sq.m.	20.07	109,347.38
PART D	SUBBASE AND BASE COURS	SE		,	Parace and the second s
206(1)	Polymer Stabilized Subbase/Base/Surface Course	805.00	cu.m.	2,191.20	1,763,916.00
PART E	SURFACE COURSES				
311(1)a	Portland Cement Concrete Pavement (Unreinforced), (0.15 m thick, 14 days)	1,263.00	sq.m.	1,259.29	1,590,483.27
311(1)e1	Portland Cement Concrete Pavement (Unreinforced), (0.28 m thick, 14 days)	4,083.70	sq.m.	2,110.56	8,618,893.87

JOSEPHINE R. MENCHERO

Witness:

As availability of Funds:

CONTRACTOR

RUEL B. BONGULTO Accountant-III

BASIL KAMON C. GUTIER

Government of the Republic of the Philippines
DEPARTMENT OF PUBLIC WORKS & HIGHWAYS

"""
GEMMA B. TIMBANG

DPWH-INFR-51-2016

Page 2 of 6

Accountant-III

As availability of Funds:

Department of Public Works and Highways (DPWH)

Contract ID

: 24FG0030

Contract Name

: Construction of By-Pass and Diversion Roads,

Jct. Nato-Sabang Coastal Road, Dolo Section,

Camarines Sur

Location of the Contract

: San Jose, Camarines Sur

311(2)f1	Portland Cement Concrete Pavement (Reinforced), (0.30 m thick 14 days)	133.33	sq.m.	5,314.95	708,642.28
PART F	BRIDGE CONSTRUCTION				
404(1)a	Reinforcing Steel (Grade 40)	27,105.39	kg.	74.61	2,022,333.15
405(1)a3	Structural Concrete (20.68 Mpa, Class A, 28 days)	389.00	cu.m.	9,796.91	3,810,997.99
PART G	DRAINAGE AND SLOPE PRO	DTECTION	STRUCT	URES	
517(1)b	Drain Pipe (PVC)	3,235.75	l.m.	205.49	664,914.27
PART H	MISCELLANEOUS STRUCTU	RES			
605(1)ai1	Warning Signs (600mm x 600 mm, W6-1B, Pedestrian and School Signs Pedestrian Crossing Ahead)	2.00	ea.	21,456.03	42,912.06
605(2)ak2	Regulatory Signs (600 mm, R6-10B, Miscellaneous Signs Bike Lane Signs)	4.00	ea.	24,084.33	96,337.32
612(1)	Reflectorized Thermoplastic Pavement Markings White	202.00	sq.m.	832.39	168,142.78
624(1)a1	Single Arm Roadway Lighting (8m-Pole, LED, 60W-100W)	28.00	ea.	137,640.51	3,853,934.28
VOLUME	III				
PART C	FINISHING AND OTHER CI	VIL WORK	S		
1027(1)	Cement Plaster Finish	2,664.00	sq.m.	259.56	691,467.84
1047(3)	Metal Structure Accessories	1.00	l.s.	68,893.88	68,893.88
CW-2 CO	NSTRUCTION OF ROAD SLO	PE PROTEC	TION S	TRUCTURE	
VOLUME	II				
PART C	EARTHWORK				
104(2)a	Embankment from borrow (Common Soil)	844.90	cu.m.	976.09	824,698.44
PART F	BRIDGE CONSTRUCTION				
400(4)a1	Precast Concrete Piles, furnished (400 x 400 mm)	456.00	m.	5,573.46	2,541,497.76
400(6)	Structural Steel Sheet Piles, Furnished	1,161.00	m.	8,307.00	9,644,427.00
400(12)	Structural Steel Sheet Piles, Driven	1,161.00	m.	1,264.44	1,468,014.84
400(14)	Precast Concrete Piles, driven	456.00	m.	2,367.85	1,079,739.60
	•			· · · · · · · · · · · · · · · · · · ·	

Accountant-III

As availability of Funds:

CONTRACTOR

Government of the Republic of the Philippines

Department of Public Works and Highways (DPWH)

Contract ID

: 24FG0030

Contract Name

: Construction of By-Pass and Diversion Roads,

Jct. Nato-Sabang Coastal Road, Dolo Section,

Camarines Sur

Location of the Contract

: San Jose, Camarines Sur

SEVEN HUNDRED TWENTY-EIGHT PESOS AND 79/100 ONLY						
TOTAL IN WORD NINETY THREE MILLION SIX HUNDRED FOUR THOUSAND						
TOTAL IN	FIGURE		GR/	AND TOTAL	P	93,604,728.79
510(2)	Concrete Slope Protection	1,865.00	cu.m.	12,895.04		24,049,249.60
505(2)a	Grouted Riprap (Class A)	1,999.00	cu.m.	3,490.06		6,976,629.94
PART G	G DRAINAGE AND SLOPE PROTECTION STRUCTURES					
401(1)a1	Metal Railing (Grade 36, Steel)	195.52	m.	1,176.66		230,060.56
400(16)a	Test Piles, furnished and driven (400 x 400 mm)	60.00	m.	8,398.80		503,928.00

NOW THIS AGREEMENT WITNESSETH AS FOLLOWS:

- 1. In this Agreement, words and expressions shall have the same meanings as are respectively assigned to them in the Conditions of Contract hereinafter referred to.
- 2. The following documents as required by the S2016 revised Implementing Rules and Regulations of Republic Act No. 9184 shall be deemed to form and be read and construed as part of this Agreement, viz.:
 - a. Philippine Bidding Documents (PBDs);
 - Drawings/Plans;
 - ii. Specifications;
 - iii. Bill of Quantities;
 - iv. General and Special Conditions of Contract;
 - v. Supplemental or Bid Bulletins, if any;
 - b. Winning bidder's bid, including the Eligibility requirements, Technical and Financial Proposals, and all other documents or statements submitted;

Bid form, including all the documents/statements contained in the Bidder's bidding envelopes, as annexes, and all other documents submitted (e.g., Bidder's response to request for clarifications on the bid), including corrections to the bid, if any, resulting from the Procuring Entity's bid evaluation;

- c. Performance Security;
- d. Notice of Award of Contract and the Bidder's conforme thereto; and
- e. Other contract documents that may be required by existing laws and/ or the Procuring Entity concerned in the PBDs. <u>Winning bidder agrees that additional contract documents or information prescribed by the GPPB that are subsequently required for submission after the contract</u>

Department of Public Works and Highways (DPWH)

Contract ID

: 24FG0030

Contract Name

: Construction of By-Pass and Diversion Roads,

Jct. Nato-Sabang Coastal Road, Dolo Section,

Camarines Sur

Location of the Contract

: San Jose, Camarines Sur

execution, such as the Notice to Proceed, Variation Orders, and Warranty Security, shall likewise form part of the Contract.

- 3. In consideration of the payments to be made by the PROCURING ENTITY to the CONTRACTOR as hereinafter mentioned, the CONTRACTOR hereby covenants with the PROCURING ENTITY to execute and complete the Works and remedy any defects therein in conformity with the provisions of this CONTRACT AGREEMENT in all respects.
- 4. The Department of Public Works and Highways (DPWH), Camarines Sur 4th District Engineering Office agrees to pay the above-mentioned sum in accordance with the terms of the Bidding.

IN WITNESS WHEREOF, the parties hereto set their respective hands on the day, month and year first above written.

PROCURING ENTITY:

CONTRACTOR:

Represented by:

Represented by:

GEMMA B. TIMBANG
District Engineer

General Manager

Witnessed by:

JOSEPHINE R. MENCHERO

Engineer-III

RUEL B. BONGULTO
Accountant-III

DPWH-INFR-51-2016

Page 5 of 6

JOSEPHINE R. MENCHERO

Witness:

As availability of Funds:

CONTRACTOR

Government of the Republic of the Philippines DEPARTMENT OF PUBLIC WORKS & HIGHWAYS

Contract ID

: 24FG0030

Contract Name

: Construction of By-Pass and Diversion Roads,

Jct. Nato-Sabang Coastal Road, Dolo Section,

Camarines Sur

Department of Public Works and Highways (DPWH)

Location of the Contract

: San Jose, Camarines Sur

REPUBLIC OF THE PHILIPPINES PROVINCE OF CAMARINES SUR) S.S. MUNICIPALITY OF TIGAON

ACKNOWLEDGEMENT

RUEL B. BONGULTO Accountant-III

BASIL

GEMMA B. TIMBANG District Engineer

Sur, personally appeared GEMMA B. 71 REPUBLIC OF THE PHILIPPINES (Depa Resident Certificate Number 28968722 I Sur, and BASIL RAMON C. GUTTERRE Issued on at	d within the Municipality of Tigaon, Camarines IMBANG, District Engineer, representing the rtment of Public Works and Highways), with issued on January 9, 2024 at Bato, Camarines IZ with Residence Certificate Number known to me to be the same g CONTRACT and AGREEMENT and they
acknowledge to me that the same is th parties they represented.	eir true act and deed for and in behalf of the
	pages, including this page, on which this by the contracting parties and their witnesses
IN WITNESS WHEREOF, I have hereun	to affixed my signature and Official Seal <i>this</i>
ATTY. AHRYAM ROYCE ST. AL NOTARY PUBLIC (LEG APPOINTMENT NO. NEWSON. A UNITED SCENIE ROLL OF A FEORMEN NO. 7678	
ROLL OF A TTORING NO. 76326 PTR 10. 7207930 CO. 2024/ALBAY IBP NO. 302124/G. 03-2024/ALBAY MCLE COMPLIANCE: ADMITTED TO THE BA	Doc. No24
1092 RIZAL ST. BRGY. 3 FUR PO. EAST, LEGAZI	Page No. \underline{UV} .
	Book No
	Series of 2024

Website: www.dpwh.gov.phTel. No(s).: (054) 881 0107

